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a)f@%={?“w‘$) (-m<250)

3(m —x) 0<z=m)

(2) fa)=m—|o]

(3) flz)= { (Q)COSSL’(_W ?0$<§x0£ )
(@) f@)=s )
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2. WOBBOERE 7 — Y =itz R L.
(1) fle)=e"  (-m<z=m)
(2) f(z)== (—m <z <)
(3) f(x) =sin’z (—m <z <)

3. JEM 2((3) THAEM2) & bbb, KM (=l LBV TRORTY % L5 B
FAUES V& ¢ S SN W
(1) flr) =l (l<z=l)
) -1 (=l<z=0)
(3) fla)== (l<z=1)

. @ = (=1)" . . .
4. B f(z) = 2* = % +4) ( 2) cosnz (-1 <z < 1) 1T —E AL 0% E
n
n=1

BTy L ERD L,
n=1

5. FORMBEORE FRIM 2 g(a) =2 D7 — Y =iz R K.
6. OO 7 =) 2ffinzeROL. 722 La>0LT5.

1 0=z =a)

(1) flx)=4 -1 (—a <z <0)
0 Z Dl

)1 (lz] = a)
() fl@) = 0 Z DA,
7. WOBRBO7—Y) 2B E RO I, 1272 La>0L87%.

1 (0Sz=a)

(1) f@)={ -1 (casz<0)
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ROBED 7 — ) mpig Bz RO X, 72iZla>0&7T5.
)12 (0<z=<a)
f(x)—{ 0 (x> a)

RO D 7 — I ZIEGEEMEZRD . 72 La>08T 5.
x 0=z =Za)
0 (x > a)

WD NV EE RD K.

(1) a=(3,5-1),b=(2,—1,3)

(2) a=(4,-2,7).b=(5—3,—2)

WD 3OO MVz 3 & T AT ARIEROEFEZ KD K.
(1) a= (1,3, 2),b = (1,—1,—2),0 = (—1,3, 1)

(2) a=(1,-3,1),b=(2,3,1),c=(—1,1,—1)

R MVBIECat) = (cost,sint, t) IZOWT, d(b),|d(t)],d"(t),|d"(t)| ZZnZEh
ked L.

7 MV a(t) = (cost,sint, t), b(t) = (t, —t%,#3) 22T, (a-b), (a xb) %
ZNZERD K.

RO FVEE () IZOWT OGN E /T, 72720, cld@~7 b, P(t)
BRI, Q) 12 MBI E T 5.

(1) V' (t)=c
(2) V'(t)+wv(t)-tant = (cost,0,0)
(3) '(t) + P(t) - v(t) = Q1)

WORBD t =05 t =t ETOME s & HAERSY vt 2N EH 2
THRE.

(1) r(t) = (2t%,3t, 3t?)
(2) r(t)= (' e, V21)

(3) r(t) = (acost,asint,bt)
RO MFRO AR 7 bb t, BALEIERARZ ML n, BALEER~Z bv b, it
g, R 2TNERD L. (IR 25 s # W TRE.)

(1) r(t) = (1 —sint,1 — cost,t)

(2) r(t) = (asint,acost,bt)

RDAT) 7 =D ALz RO K.
(1) flx,y,2) =2zyz (2) flz,y,2)==% (3) f(t) = ety 422
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AH T = f(x,y,2) = 2% + y? + 22 DAL 22 + y? + 22
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BWTC, ZOSAMEE\BERENNRT bln Z—2KD L.

ROXT "MV a(x,y, z) DR L TH D Z L 2rHE.
(1) a(t) = (z* +yz,y* + 22, 2% + 2y)
(2) a(t) = (2ay? — 222, 22%y~ 23, —22%2 — 3yz?)
WDATIZ =30 C :r(t) EOMFESZRD K.
(1) foges) —ape, 1) = (L2 0<t<1)
(2) flx,y,2) =x+2yz, r(t)=(t,t,t) (0<t<1)

WO "GO C o r(t) EORFES 2R K.

(1) a(z,y,2) = (—y,x,2), r(t)= (cost,sint,t) (0<t
(

(2) a(e,y,2) = (Qayz,2%z,2%), () = (LEE) (0<

<
t

)
<1)



